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1. FEHERE (Bitk)
B ENRKRT 520185 AN D2018E7 AETHE BMEHBEIZLYET,
@D LNGEHEE = 55,700 /t
@ LPGE#HffitE = 61,580/t
2. [RHE R BE (FiA)
EE /4 B (F/m)
— A RINFEEERRITR A 2371
IR RIEHEATIER A 2845
(1) FHRFHER (FiiR)
LNGEHE®E x 09576 + LPGEHHEE x 00466
= 55700 x 09576  + 61,580/ X 0.0466
= 56,207.948 [
- 56,210 (10FRFEDIHHELIEHEA)
(2) REHEIEZEENEE (Bitk)
EAE S R R AR - 1R
= 83,350M - 56,210/
= 27,140M
- 27,100 (100MKFEDIHEBEIVIET)
(3) TRAE B - — A H R/NFERAEHITR (FIA)

-0.081 x  [FRMERZEEE - 100H x  (1+HEEBR)
= -0.081 x 27,100M + 100 x (1+008)
= -23.70708M
- -23710 (PEAFERBDIHRBERD/PSVNAIZYIYIET)

(4) FRHERAZEE - SREBEEHZRER)

-0.081 x FRPHERESE -  100M  x 12 x (A+HERE)
= -0.081 X 27,100M +~  100M X 1.2 X (1+008 )
= -28.448496M
- -2845M (/PEAFE2EKRBDIHBERD/PSVNAIZYIVIET)

3. AEHESRMELCEFHEAEICONT
FIZRER-/MIREBROBESERAIT 2HHE) D5E

(Fitk)

AR EHEEAHES(A/A)| #EHESEME/m)
A |0MMi520mMET 669.00 113.30
B [20m%#BZ200MET 1,647.00 64.40
C |200m%E#BZ5BE 3,441.00 55.43

GtEH) FREMDIEE
{FEEEEARHE (1,647F) +HEEH £ (64.40/m* X 29m*) } X 1.08=3,795 (/MR LT YIS T)



